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QUESTION 1

Which statement accurately describes the difference between two load balancing modes specified as "member" and
"node"?

A. There is no difference; the two terms are referenced for backward compatibility purposes.
B. When the load balancing choice references "node", priority group activation is unavailable.
C. Load balancing options referencing "nodes" are available only when the pool members are defined for the "any" port.

D. When the load balancing choice references "node", the addresses\\' parameters are used to make the load balancing
choice rather than the member\\'s parameters.

Correct Answer: D

QUESTION 2

Which VLANs must be enabled for a SNAT to perform as desired (translating only desired packets)?
A. The SNAT must be enabled for all VLANS.

B. The SNAT must be enabled for the VLANs where desired packets leave the BIG-IP.

C. The SNAT must be enabled for the VLANs where desired packets arrive on the BIG-IP.

D. The SNAT must be enabled for the VLANs where desired packets arrive and leave the BIG-IP.

Correct Answer: C

QUESTION 3

An inline ASM configuration requires:
A. Two network connections

B. None of the above

C. Two disk drives

D. Two power supplies

Correct Answer: A

QUESTION 4
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As a full TCP proxy, LTM acts as the termination point for both requests from the client and responses from the server.
A. True
B. False

Correct Answer: A

QUESTION 5

A server is operating on the network 10.100/24. The BIG-IP device is operating on the 192.168.0.0/24 net. What is
required to enable the several and BIG-IP device to communicate properly?

A. Firewall
B. Switch

C. Router

D. Hub

Correct Answer: C
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